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i B | FEEMm | E | 5 E | # i E FEEM | B | 5 E 7 e
H9 IR I 200 g 70 43 | HE S A IR 10 ke 2, 700 1, 404
LA = R 250 g 108 86 | 5L 5 & 10 ke 4, 320 3, 240
ZEok & [ 200 g 70 59 | 7 AHINLE— = B 270 g 324 108
IZ5 A% D = B 200 g 102 70 | WDDH = B 270 g 302 140
FhE = B 8 ke| 3,024 1,080 | HEpE = B 270 g 518 162
LpAEL K B 160 g 75 64 | T—AR AT F [ 9 ke 7, 560 6, 480

— — ~ — — | T FE R 15 ke 7,020 | 2,160
PN £ 15 10 ke| 1,080 —
PEIECA T A w5 | 10 ke 2,376 1,944

k< aEn KO 15 ke 3, 240 1,620
¥ Y B4 10 ke| 1,620 540
LA R F OB | 10 ke 3,024 1, 620
ER, (= b ke 2, 160 1,728
23 m A 5 ke 2, 160 B
k< h BE AR 4 ke 2, 160 1,944
e m A 150 g 97 —
ExAED FOER L 2 ke 2, 592 2, 160
o ] 4kg| 1,944 756
L ox P 10 ke 2,916 2, 160
ToEhE E JE 10 ke 1, 836 1, 620
ALzl = 100 g 151 86
LH U & ¥ 100 g 54 43
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T H FEEM | B | ® & % H Bl H FEEM | E 2| & E % fE
AESCHIE FOER L 1 ke 1, 944 810 | ¥4/ TAUA 1ke 2, 160 864
mE < A P 1 ke 1,188 216 | YN SV z— 1 ke 1,080 324
7Y £ I 1 ke 1, 080 172 | #5 = ny7 1ke 1, 836 1, 296
PR T I 1 ke 594 162 || A& 5 1 ke 1,512 1, 080
AT Ao 1 ke 356 108 || FU A L & 1 kg 2, 700 1, 080
A A AT = 1ke 928 540 | BEFH < AbiiEE 1# 194 54
ENF w5 1 ke 1,242 108
& A =0 1 ke 1,026 540
& = R 1 ke 2, 160 1, 404
INTE H 1 ke 2, 160 —
T e R 1 ke 1, 080 367
oA h = 1 ke 4, 320 2, 430
e FEIRE; 1 ke 1, 458 648
E7V IR & 1ke 1, 566 432
YU 5 FNER L 1 ke 1,728 756




